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Intro
Today we will 7”va learn 1”5 97 of mi2 noom.

The topics we will learn about include 11D’R I’l’ bn 110’& ]’N

NOR HY SN NOR PR
One Issur cannot take effect on top of another Issur

oM Mo'R - where subjects of the mo°X were added -
More people become Assur to do this Issur.

72010 MO

5510 'R - where objects of o°x were added - More
things or people become forbidden to the original person
or persons.

XM 9272 V0
While attempting to do a Mitzvah, he did an Aveirah 551: ﬂ]D’R

NV,
There’s a Machlokes whether he’s 2711 to bring a 127p
DRON

NIXD 7272 NYO

17195 R5M T

A Kohen may not marry a n)>n Mid'Rabanan, because a
. 7150 is similar to a nw17, whom he may not marry

Mid'Oraisa.

1n2% NROM NI

75N DR
If someone certainly transgressed an Awa 032 o'N, he
must bring a nxon 127p. If it's a poo whether he
transgressed an »1w31 N7 MO'R, he brings an "5 DwR.

"N WK
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So let's review

The Mishnah on 2"y 3”5 97 taught about a case of
DUV VTRV DY

Two men, wrw) J2IR7 betrothed two women, 7R 59
respectively.

M5 m 5w nR1 S i Hw nR 19°5nn 0N [N nyw

At the time of the marriage the wives were exchanged
M.

The Mishnah says;

DWIN WYY IR PUION)

1 T2 RPY

Before they return to their rightful husbands, we separate
them from their husbands for 3 months, to determine
whether they had become pregnant from the forbidden
union, in which case those children are on». We also
need to determine who is the father of these children?
755 PIYIRT IPRW NIOR PR DR

TR MR DI

If the wives are minors who cannot conceive, there’s no
need to separate them, and they may return immediately.

This is generally known as mn27, and is extensively
discussed later on 2m R q7. However, the Gemara
discusses it here as well in connection to our Mishnah:

SRIDY MR

DWIN WYY PIdmD MR 190

7I0R NIMWL DI I

All women who have previously cohabited must wait
three months before marrying, except for a minor convert
or freed maidservant.

The Gemara is p»7»

SR N2 mop HIR

DWIN A PR NN

But a Jewish minor must wait - which seems to contradict
our Mishnah?
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QYW1 N2 TP oY
nDnb jNoNS NP
M M O AN - O S AN e

Ve Ry, Uzp (0l

PP 1 oY
790 PIMNT N
T JRIN D

Winors who cannot conceive

may refurn mme/mfdy

TN PPRB
awmn b
I PN N

In whick case
those children are
MItTPN

nanan

DN AN
DR YW PRmmD MR i
MR NI NN PN
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After some discussion, the Gemara concludes with two
versions of Shmuel’s opinion, as follows:

According to the first version;

A 751, an adult woman must always wait, since
conception is a real possibility.

A mvp, aminor, who cannot conceive, must only wait
because of a

1212 TOR TIOR 1V

Therefore it depends on the situation as follows:

-]-

In a case of x'», where she refused her husband of a
13277 PRI,

1298 PR

She does NOT need to wait. The 7713 does not apply,
because a 7173 cannot do R,

-2-

In a case of V), where she received a Gett from her
husband of a R IRT PRIV,

198

She DOES need to wait, because of the 7771,

_3_

In a case of mit, where she cohabited with a man,
1293

She DOES need to wait, because of the 7771,

-4-

NIIMWI N3, @a minor convert or freed maidservant
1298 PR

She does NOT need to wait. The 771 does not apply,
because a mvp NIIMWM NN IS

NMPOW KD, uncommon,

1327 72993 RY RPOW RYT RO

_5_

In the case of our Mishnah of 9/>'n

1298 PR

She also does NOT need to wait, because it's Rrow &5,
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1

A 29173 an adult woman must always wait,
since conception is a real possibility.

A mvp who cannot conceive must only wait
because of a Y172 1OR MVP NPT

fwwcmo/...

N N mat XM

NIOPT  NIIMWM MYVPT  MNVPT
NIR MovPT NN TN

27X DR m DN
[ = 2 M A L ]

02

NNOW RY
D 125k 4 RO NRY n]a;?g;f A », )34

Vo gt/ wmomer canndt do
Vo NN SN
pUP
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According to the second version, only two cases change:

I0PT N
71993 PR, because it's RIOW RS

15173 DM I
798 APR

And, this is actually a X np5nn, taught in a Braisa;
ANOWM AWM NN

INNVIVI ANV 17O

DWIN A P MR

M 27727

TR RWPH DIRD I OP 127

Rebbe Yosi holds that she does NOT need to wait.
The Gemara gives two possible reasons

PN NVPWH AN TR

92YNN RO 75

OR

92000 ROW N29INM 73RN TR

She takes steps to prevent conception.

Rebbe Yehuda holds that she must wait, because
7197 1197 719ONNI KD RDW 10N

Perhaps her precautions were not effective.

PAR YR OV 170

We have B‘H completed the Third Perek of mina’ noomn,
and we begin the Fourth Perek 1nna'> y5nn, B'ezras
Hashem.
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Two cases
Version Version Version  Version

p 1 1 p

nna nmna mt mxt

IMYN NIMONT MNOPT MNOPT

nNTA MNTA A arn

NN NN pUS NN
NN

NNMOWY XY
D5 /246 ,é/

DXIN NPONN e

ANAYM ANAYEY NMNAR
1RNAYIEN 1NN T

j=)i=h| AN 29
P DWO AR Pannh Moy
RY DN

Y D Y P AV g &n
OB P> GGt 2502 £/
2000 /,’ﬁ VYY) A’ﬁ 25 DO’ Do’

PAN YN Y 1977
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The Mishnah later on 81 97 teaches that a Y evamah must
wait three months from the death of her husband before
performing Yibum or Chalitzah. This requirement is to
make sure that she’s not pregnant, which would make
Yibum or Chalitzah unnecessary, since the Hva left
offspring - and Yibum would actually be 17ox because of
M3 OIPN1 R5W MR NON.

Our Mishnah teaches about several situations where they
did not wait:

Zugt di Mishnah;

gieni R llah]

7721 NI2IWD NRION

If they did Chalitzah, and it turns out that she - or one of
the other Yevamos - was pregnant at the time of Chalit-
zah, and later gives birth;

Rp7P S T P

If the child is viable, it turns out that the Chalitzah was not
necessary, since the 5va left offspring. Therefore, the
Chalitzah was merely an act of no consequence - as if it
never occurred. As aresult;

IR I RN

He may marry her relatives.

PP DI R

She may marry his relatives.

AN P 1900 RN

And, she does not become forbidden to a Kohen.

R SO T PR

Ifthe child is not viable, the Chalitzah Is effective, and
therefore;

PMAPA NOR NIA

PP TNOR R

piineakisaplela)

All of the above are forbidden 132771, because a x> is
similar to a 7w - One may not marry, for example, Mmnx
mx15m, as he may not marry mMwR MNR even after pwirs.
Similarly, she may not marry his relatives, for example
MRP PNR, just as she would be forbidden if she was
married, and then divorced from him.

Also, a Kohen may not marry a 73151 Mid’Rabanan, as he
may not marry a w1 Mid'Oraisa.

17M217pP2 NOR RN
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naYo Yo

A Yevamah must wait three months
from the death of her husband
before performing Yibum or Chalitzah

Y the /ﬁa %f o/”&ﬁrm?/
ybéwfV woild be >0k becanse of
DYZAY /0//’)/1/,3 A’ﬁ .=

to make sure
that she’s not
pregnant

NS pomn
M9 NN NN

If she was pregnant at the time of Chalitzah,
and later gives birth

TN PR

TOINW JNT2
RNPP HY

RNPP HY
%CWWM/MW

al % it never occurved

17M21P2 NN RIN
1P219P2 NNMOR XYM 1P21IP2 NAMN R'M

NNNON P NHOM

Al o% the above are /aré&//m V J2I3N,
becawse a 22/ s similar to a 2026
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The Mishnah continues:

NP DR DN

779 IIIVH NRION

Ifthey did Yibum within three months, and it turns out
that she - or one of the other Yevamos - was pregnant at
the time of Yibum, and later gives birth;

R Sw THW

1292 P27 ROXY

Ifthe child is viable, they must separate, because they are
TOK to each other because of mx» PP RYW MR NN,
They must also bring a nXvn j29p, because they
transgressed an w1 N33 NON.

07 RDH SV 91 PR DN

If the child is not viable, they may remain married, since
their Yibum was a valid Yibum.

NORIZ YWD 12 PO0

PINRS Yaw 12 poo

Ifaviable child is born at a point where it cannot be
determined whether it’s the child of the v3, born after
nine months, or it's the child of the b2’ born after seven
months;

ROXP

W TN

75N OWRA PR

They must separate and bring a Korban poo nmnmn -
because of the possibility that it's the child of the 5»3, and
she’s MO to the Yavam because of Dipna R5W AR NWR
Ry,

However, the child is legitimate - certainly NOT a 7won» -
as Rashi explains;

Jwo1 nn» - either way:

Ifit's the child of the by3, it's legitimate, because the
Aveirah of the unnecessary Yibum does not affect the
child. If it's the child of the Yavam, it's legitimate, because
the Yibum was necessary and valid.

YN AN DS
MTOM AN PN

The Yevamo was pregnant at the time of Yibum
and later gives birth

T PR ON)
RNPP HY

o»p
since their Yibuwm
was & valid Yibuwm

nyaw 2 pad
Ay,
Is it the child
of theDY

born after
seven months

2

THNW 072
RNPP HY

RINY
12972 P2arm

are 2/of
because of) pt Ok
DN PP 3

) PP
because it was an
k1l ~_n23 2jot

MW 12 pod
NNT?

Isit the child
of thebv2
born after

nine months

?

NORY
w9 79

Cm‘awzy’

NOT a 259/

JED) ONY

r:”n‘
"Wor DN

Z%#'J/f/wc/u}&/ ;,Za"yf/wcm//

of the A
the Aveivaty % the
Yibumn doess nat

afffect the child
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The Gemara cites a wpb w0 j3ny °29 np>nn in the
following case:

129m NIWnS Yo IR

If one Yavam gave Chalitzah to the Yevamah while she
was n121v», and she then miscarried;

IR Y 27

PRRT P AR5M 7273 7R

She does NOT require another Chalitzah, because,
%50 APWY NN NN

AR DY NIWH DR

The Chalitzah done while she was n321n is valid to
release her.

TR WPH WM

PART P %51 7773

She DOES require another Chalitzah, because,

A%°5n Anw R N2wn NN

AN’ DY RS NI2IWD NN

The Chalitzah done while she was n721v» is NOT valid to
release her.

735017 'Rixa

The Machlokes can be explained two ways:

RI20 RN YN

It's based on logic:

930 Y 27

3915 RNYH DN

The first Chalitzah is valid retroactively, since we now
know that there was no viable child, and Chalitzah was
required.

MR YN

JPIPR RD YION5 RNSM 93N

The first Chalitzah is NOT valid retroactively, since, at
that time, there was a possibly viable child, and Chalitzah
was not required.

RIP RDR IPVIN)

It's based on a Posuk:

920 N 23

RTINS PR

75 5 RM

The Torah says if he has no child she requires Chalitzah -
and in fact, he has no child.

720 5"

PrRID

oY Py

From which we learn that any type of child is enough to
not require Chalitzah.
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9B NIPRS PR M
...and she then miscarvied

AN pnv =h
MM oMY N
PPN I
NN NXOR
mRon Y

D2 PRYY
Y= aptal

1N wpb e
MYYOM [y
PPN 1

N3 NYSR
mYYOn e &Y

NN NN
MNP NS

The C/z@&?‘j@éz done while she was, »o>/yp
& not valid ty release her

515 W13

N30 NI NP
N W’P‘? v 92D A an
panb 8RO SN paerh 8nbw On
1Y KO The first Chalityal
The first Chalitgah s valid retroactively
not valid ra?‘rma‘&vejyz, hnce we now know
since, at /‘W time, ?‘/Ld/?‘ 7%”& was no
there was w/aaw;é%/ viable child
viable child

NP RN RPN
920 W‘P5 v 920 aman
e [N Y o

YUY NIAT N

Angy type ofp child i eno b 5 N
o not require Chalit:
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The Gemara then proceeds to explain our Mishnah
according to each opinion:

The Rw™ of the Mishnah:
b YN

775 NI2WYH IRIHI..

R SO TN PR

niinealiskapleb)

According to Rebbe Yochanan it's 77 901 132770,
because

7350 W NN NRON
According to Resh Lakish it’s,
ROV RN 32770 because
A%5M AW RS NN nbn

The xo0 of the Mishnah:

NP2 DR O

775 NI2WYH IRIHI..

D7R RVP SW T PR ORI

According to Rebbe Yochanan it's 1owo5,
They can stay together if they wish, because
R W NIIVH DR

The Yibum was valid.

According to Resh Lakish it means,

o W M

He must perform Yibum again, because
N2 DY KD NIIWD NN

The first Yibum was not valid.

The Gemara then cites a X1 »ar N> in how to learn
the wpb w p3mr 723 npbnn:

Rava holds that the wp5 w1 117 227 nbmn is in both
7350 AW NN NRON

AND

R W NN DR,

However, Abaye holds that j3nv '27 agrees with wpb v
that

N2 W R D720 NN

Their Machlokes is only whether

%51 AW N2 NXON

The Gemara elaborates on this in the next Daf.
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Co IO MNP DREN
MM 11 190D - N S o N

o e 3 *29
,é’/‘//go ,&’7/!///)[\/,:79/!/ Ve 7/’)'}7\/ / YPITN
because because
/)7,3/}7‘//:3'5 NIV, /137'5
22/ ol &/ 22/ I

AR onan 222
Lo TN AN DNEN
D"PY R1MP O T PN BN

W’P5 "2l 13m0 29
PPY Ny s 108>
because because
NIV "D NIYN "D
D Il ,&/ D I

N2 2R NPYNN
in how to learn the
WP WM AN 227 PN

A~ Ao
alvibla)s) ialvibla)s)
isonlyin isin both

NN NNHYN NN NNHYN
nNON NWY nNoON NWY
but not and

NI21YN NXR12 NA2YnN NX22
IR NNY IR NNWY
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